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Topic:- GENERAL HINDI

1) ‘Good mind, good find’ 3 3 HeTad &1 TE fa=<t ardf FaTgUl
1. 5 =1 H A R, 7 87 A

2. 310 Hel ol ST Hedl

3. 37 TGN, 3l @rel

4. 3BT A, SBAR Tl

Correct Answer :-

o 3T Yol oY ST el

2) "I BT TS GeTaX T 34 & -
1. §¥1G I

2. AU &

3. 3 g

4. Y FTd HAT

Correct Answer :-

3) TIg 3R 31 W THER I B BT Pt MUT G aTdl oed Dl Fed 2l
1. UL

2. BT

3. 3[ADR

4. T


Lenovo
Stamp

Lenovo
Stamp


Correct Answer :-

4) f= Aol A T 34X &1 faenw Tarsu|
1. 3R
2. Goll
3. QT

4. 3TN

Correct Answer :-

5) §gd HTTSH PT JTAT B TP e W FIT Hed 82
1. SgYUTST

2. g HIVTTdG

3. 98 YINTfay

4. §gT

Correct Answer :-

Correct Answer :-

. DY

7) fopar & fora U & g var 9« & fovar &1 g fawg
1. 91 | HH g1 1T Dt GYIT ST arelt fbar gl

2. 919 | i g1 HH T HId BT YY1 gdT arelt fosar gl




3. TR H hdl i YT §dT4 aTdll 191 gl
4. Bl g, HH g IT U I A Hed o

Correct Answer :-

. Hdl g, HH ¢ TT UG 39 T Hgd & |
8) U Xeg W VYA TUT @ -
1.l

2.9

3.9

4. 91q

Correct Answer :-

9) el & & f=f wieler, gfH-gfv = gerarfa
IR @R @ 21, wY 3t go fmafa

HufFa AT S e AT 8?2
1. RMd

2. Hfdd T

3. AT T

4. I

Correct Answer :-

o dlcqdcY Y

10) CANCELLED
“dRT BT qgiaat gl
1. OR&

2. 3G
3. UHI

4. dfsd

Correct Answer :-



Topic:- GENERAL ENGLISH

1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
‘Brevity is the soul of wit’ implies.

1. Witty people are generally diminutive

2. The essence of intelligence is to be brief in expression
3. One can go on and on and still make sense

4. Great intelligence is always associated with long speeches
Correct Answer :-

« The essence of intelligence is to be brief in expression

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

I had been rudely awakened.

1. made weak
2. slept

3. roused

4. manhandled

Correct Answer :-

» roused

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

In olden days, living was cheap and an earning of ten thousand rupees __ a huge amount.
1. was

2. are

3. were

4. have been

Correct Answer :-



4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

I to my friends place tomorrow to study.
1. will be going

2. would be gone

3. had gone

4. going

Correct Answer :-

« will be going

5) Choose the appropriate adverb clause from the options to complete the given sentence:
You can put it

1. somewhere for you

2. somewhere

3. wherever you like

4. wherever

Correct Answer :-

« wherever you like
6) Out of the following four options, choose the incorrect sentence:
1. We have worked with organizations that cater to the lifting up of neglected slum and homeless children

2. Our training does not appear to be delivering adequate value and a number of people are highly critical on how
we train them.

3. A enchanting white marble lobby, adorned with traditional Indian motifs occupies the pride of place at the Taj
Mabhal Hotel.

4. Campus recruitment was very spasmodic and we need to ramp up and professionalize recruitment processes.

Correct Answer :-

« A enchanting white marble lobby, adorned with traditional Indian motifs occupies the pride of place at the Taj
Mahal Hotel.



Out of the following options, choose the most appropriate usage to fill in the blank:
The remark wasn't intentional; it happened

1. by slip
2. in accident
3. by accident

4. through accident

Correct Answer :-

« by accident

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.
1. It happened exactly three days ago.

P. Some concessions from the six other countries were expected in return.

Q. Britain made concessions on commonwealth preference.

R. Instead they interpreted Britain's concessions as weakness.

S. It would have the effect of reducing commonwealth imports to Britain after 1970.

6. Their latest demand is more damaging than their last proposals.

1. SQPR
2. QSPR
3. PQRS

4. SRQP

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) According to Census 2011 in Madhya Pradesh, the percentage of total male child population (0-6 years age
group) to total male population is ./

SIUMFT 2011 & AR, A9 YR § $d T3V GG B A $d YV 914 TaIc! (0-6 T4 31g avf) &1 ufsra
____®l

1.20
2. 15
3. 18

4.22

Correct Answer :-



2) Who is the first Indian female gymnast to win a medal at Glasgow Commonwealth Games 2014? /

2014 T AIPHST Wl § U SiiaA arelt T4 YR formre afgen #1482
1. Dipa Karmakar / a1 HHIHR

2. Anjali Kashyap / 3{Slell ROU

3. K.M. Beenamol / &. TH. Sfi-THId

4. Mithali Raj / THTel IS

Correct Answer :-

« Dipa Karmakar / <1 HAHR

3) Who among the following cricketers born in Madhya Pradesh became the first Indian to score a test century
overseas for India? /

mﬁamﬁﬁﬁﬁﬂ%‘,ﬁﬁnmmﬁﬂagqﬁﬁm%mﬁ%ﬁﬁé\ewmﬁmﬁuﬂﬁ
YR 82

1. Syed Mushtaq Ali / I9¢ Jd1H 3fcit
2. CK. Naydu /¥l &. I09g
3. Mansoor Ali Khan / ¥R 3l @

4. Chandu Sarwate / ?@ﬂﬁ?

Correct Answer :-

« Syed Mushtaq Ali / J9¢ HRdTe 3fcfl

4) To rewrite and harmonise financial sector legislations, rules and regulations, the Central
Government constituted the Financial Sector Legislative Reforms Commission (FSLRC) under who's
chairmanship? /

farita & & ST, FRawl oik faftraw) & fibe | firea ok O 91 & g, $s IReR A fSaat sreaeran
T fa<ita & faurlt gur SmaT (TwegamRdt) &1 weH fHar?

1. Justice B.N. Srikrishna / ST &t T, %&m
2. Dr. Meghnad Desai / 3T HeHTG éﬂlé

3. Dr. C. Rangarajan / 1. 9I. YRoH
4. Dr. Subir Gokaran / €. &R Tl

Correct Answer :-

« Justice B.N. Srikrishna / SIfeH of.TH. fion



5) Who was the first vocalist to have been conferred the Bharat Ratna? /
YR ¥ | THATd fhY T Ugd T &1 A

1. Lata Mangeshkar / &Idl TR

2. Bismillah Khan / fafRyear @t

3. M.S. Subbulakshmi / TH.T9. Jegaet

4. Pt. Bhimsen Joshi / ufga Hiudq o=h

Correct Answer :-

« M.S. Subbulakshmi / TH.TH, egaigH

6) Name the Indian singer who was born in Indore and jointly awarded the Bharat Ratna along with Ustad
Bismillah Khan in 2001. /

I URAHT T &1 AT Fa1¢, 3T 579 3SR ¥ g3 ok o Tgaa v ¥ 3wre fafreare W & |1y 2001 #
YR Id A FHTd forar |

1. Ustad Amir Khan / S&ITG 3fHR @M
2. Kavi Pradeep / fd UdId

3. Piyush Mishra / lﬂ'q:q foen

4. Lata Mangeshkar / <Tdl TIRIBY

Correct Answer :-

« Lata Mangeshkar / ST HIRIHR

7) “The Race of my Life’ is the autobiography of which Indian sports personality? /
< I 3P A1E AP fpg YR faars) &1 srapur 82

1. P.T. Usha / Ut. &. 3w

2. Milkha Singh / forerar Rig

3. Anju Bobby George / 3iS] dTell Sifst

4. Yuvraj Singh / gaRTol Rig

Correct Answer :-

« Milkha Singh / frera g

8) In the MP Budget Estimate 2018-19, was the least contributor under the Tax Revenue of the state. /

T YR ToTe ST 2018-19 T, 5T & B YOI & SiTd Seqay TGSl ATl



1. Electricity Duties / Iaa\qa Rleh

2. Tax on Vehicles / A8 TR B

3. State Excise Duty / XIvd SdIg R[eh

4. Land Revenue / 3-‘[&[ RIS

Correct Answer :-

» Land Revenue / 'l-‘[&-l NS

9) Where in Madhya Pradesh is the Kalidasa Sanskrit Academy located? /

AU | PIRIG WP SAPIGH! Bel fRUd 82

1. Gwalior / TTfeIIR

2. Vidisha / fafeam

3. Bhopal / T

4. Ujjain / IeH

Correct Answer :-

e Ujjain /IS

10) CANCELLED

When and where was the National Library of Indiainaugurated and.opened.to public? /
HRA & IR QAPTET F1 3GUTC $ IR HEi §HT YT T ST & fIQ oo Wierm 141 412
1. Mumbai, 1950 / 43, 1950

2. New Dehli, 1951 / T8 fawelt, 1951

3. Kolkata, 1948 / TIcIhIdT, 1948

4. Kolkata, 1953 / BIcIebTdl, 1953

Correct Answer :-
« Kolkata,1953 / ®Id®Tdl, 1953

Topic:- GENERAL REASONING

1) Find the missing number: / &l ST {Td P
110, 132, 156, , 210

1.192



2.172
3.182
4. 162

Correct Answer :-

. 182

2) Find the average. / 3Nad ATd cxd
52, 88, 73, 64, 88 & 85

1. 81

2.75

3.79

4. 83

Correct Answer :-

3) Which one of the following four addresses is NOT EXACTLY same as the one given
below? /

fPrafifad faw e ar ual & ¥ = e v ud 1St g S 91 v T8l 22

Paradise Drive Wirrina Cave,
South Australia, Yankalilla,
SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

(i) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400



(ii) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5023,
Australia

+61 8 8598 2400

(iii) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,

SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

(iv) Paradise Drive Wirrina Cave,
South Australia, Yankalilla,
SA 5203, Yankalilla SA 5203,
Australia

+61 8 8598 2400

1.1

2.1v

3.1

4. 111

Correct Answer :-

o 1l

4) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
2 & 7€ gErar aRY Td G=ATSH BT SIHH THIN B! 8 | Teld HaIeH Uga |

(i) KI9SLMS6EW

(i) KI9SLMS8GEW

(iiii) KI93LMS6EW

(iv) KI98LMS6EW



4. 1ii
Correct Answer :-
o il

5) A can do a certain job in 14 days. B is 40% more efficient than A. How many days does B alone take to do
the same job? /

A TF i3 o1 o) 14 371 & H IHa1 21 B, A T 40% 3ifUF FRIA 81 B Bl 3bd IH BT B B3 A foamn
JHY TRM?

1. 10 days / 10 faA
2.12days/ 12 faa
3.8days/ g faA

4. 14 days/ 14 fa

Correct Answer :-

. 10days/10feT

6) If A and B are two sets such thatn(A) = 33, n(B) = 41 and n(AUB) = 46, then find n(ANB). /
afc AR Bel ¢ 59 9K & & n(A)=33. n(B) =41 3K n(AUB) =46, @ n(ANB)
EIGEETY

1. 26

2.24

3.25

4,28

Correct Answer :-

7) If D = 4, COVER = 63, then BASIS = ? / 9f¢ D = 4, COVER = 63, dt BASIS = ?
1.50

2.54



3.55
4.49

Correct Answer :-

+ 50

Topic:- PEDAGOGY

1) Roger’s client centered therapy is based on the assumption that: /

ST T AT higd AT 6 T I YTRA § T

1. Man works in the direction of satisfying his needs and achieving his goals. / 97tJ HIAT T Eﬁ‘{{‘r

T S AAT AT I ITH FLA Al (T § FH FHAT gl

2. Man, creates his own self but cannot move forward. / T, SMTAT T & FHTH G& FHLAT g AT AT Al
% AT g

3. Man, is a social animal and the society dictates his behavior. / A, TF HTATISTE YU g 3T THATS IHH
FEE FI HETd T 2|

4, Man, is a creative, rational, and constructive social being, but he needs support to solve problems. /
ATTHT, U TAATCHS, THEI AL TATTCHE ATHIST IO 5, A (ohd THETHAN FT 2T e o (10 I FHAT i
ATFTTHAT 2|

Correct Answer :-

« Man works in the direction of satisfying his needs and achievingrhis goals. / ATt AIAT STELAT &l T

Tl S AT AT I ITH FLA i (T § FHTH FHAT gl

2) In cybernetics, the machine is controlled by: /

AgeRAfeH |, 7= ®1 f g1 i fsar siran 8:
1. Using Compulsion / IEEEGIED ?R?itn?r
2. Using force / d¢1 TN

3. Human beings / ral
4, Regulations and feedback systems / fafam 3R ufafsar vomeh

Correct Answer :-

. Regulations and feedback systems / fafa® 3R ufafesar yomet

3) Sensory feedback mechanism means that: /

viﬁz"ruﬁrmaam&rﬁﬁﬂ%;



1. only visual feedback is provided. / Had T YidishdT UG i SITdl B |

2. all human activities are taken into consideration. / G4t ATTa TfAfAfRral o) &= § a1 ST g |
3. reinforcement is a self-acting device. / U Udh 9-Yfchd IUBHRU] %I

4, reinforcement is a self-controlling device. / Uddl- Udh - HfAd IR % |

Correct Answer :-

« reinforcement is a self-controlling device. / Ud ¢l Udh - HfAd IR % |

4) In which of the following fields was the first laboratory was set up in Leipzig, Germany? /

frafafaa & 3 few &= | argfr, s & uged yarm=mrear wuifta #1713 &b
1. Industrial Psychology / 3TNt gfas

2. Clinical Psychology / &I-d HAIR

3. Educational Psychology / s EEEIIERIE

4, Experimental Psychology / U A=

Correct Answer :-

« Experimental Psychology / AT A=

5) Who postulated the theory of multiple intelligence? /

e o & fram waiiire-gfeuar & Rigia o1 ufaure- foar 317
1. John Watson / SII<I dleg

2. A.R. Jensen / U.3IR. S

3. E. L. Thorndike / 3.Td. AHSTSH
4. Howard Gardner / Eﬁé 1 Ié I

Correct Answer :-

« Howard Gardner / 3'\|171|_5c 1 Ié'_ﬂ

6) Using of audio-visual aids and physical activities in teaching will: /
Rreror ¥ siffeat-fasisrer geraar ik i nfafaftry &1 3uahT:

1. provide a diversion to learners. / Rrenfial &1 te J-I\IS_ AT ICZRR | |

2. provide rest and relief to teacher. / FRI&/ BT RTH 3R IEd U= BT

3. facilitate effective assessment. / FHTGRITA! Jdih DI TSl DT



4. utilize maximum number of senses to enhance learning. / 3{IETH B[ IGMH & Tl HIYHdH TAT H [dddh &l
SUGNT T |

Correct Answer :-

« utilize maximum number of senses to enhance learning. / AT DI aaﬁ & forg sifdipay T H fade &1
SUGITT BT

7) 1If the students do not understand what is taught in the classroom, the teacher should feel: /

gfe faenfdal & st # 73 smar f& wem © @ Rramar simar 3, @ e ) A vegy s3ar wifeu:
1. Terribly angry / Wi iy

2. That he is wasting time / dg JHI CEIFEREE] g

3. Pity for the students / GIEIG %'Q a1

4, To explain it in a different way / Eﬁ 3T dth I REENY

Correct Answer :-

 To explain it in a different way / Eﬁ 3T dth I REEIY

8) Whose theory states that, “Children actively construct their understanding of the world”? /

e Rigia o we1 a1 @ 7, "= aftha =0 A g & IR § sroeit wagt &1 Fafor s g2
1. Skinner / RFR
2. Rogers/m

3. Bandura / SgX1
4, Piaget / o

Correct Answer :-

 Piaget/ Ot

9) ‘Mirambika’, the school based on concept of free progress education was advocated by:/

Rrifer 4. 3106 wifa Rien 3t sauron w snutia w@d &1 99dH g7d gRT f5ar T or:
1. Gijubhai Badheka / RTSJHTS SU®T

2. Aurobindo / &m

3. Rabindranath Tagore / JSIFEATY SR

4. Vivekananda / fJdd® Mg

Correct Answer :-



« Aurobindo / Gma

10) What is the natural language acquaintance? /

I ad UTT BT Uga T 82

1. Hearing, speaking, writing, reading / {11, ®|\IQ'1'-II, I?R@I'-II, Uel

2. Hearing, speaking, reading, writing / {11, GI\IQ”I"II, U, NECRI

3. Writing, reading, hearing, speaking / 1%17@:”, YeIl, g1, CING

4. Speaking, hearing, reading, writing / d\I('HI, 1, Uel, foRgT

Correct Answer :-

« Hearing, speaking, reading, writing / {11, GI\IQHI, U, forgHT

11) In the teaching-learning model, the correct sequence of five E’is: /
Rrgror-efinm uisa o, uig £ & G orehH - 8

1. Elaborate, Engage, Explain, Explore, Evaluate / m, A, ReAT, 3=y , W
2. Explore, Engage, Explain, Elaborate, Evaluate / 3[-AY U , W:L o], ﬁﬂa, W

3. Explain, Elaborate, Engage, Explore, Evaluate / ST, ia%Qd, S NEGH W, W

4, Engage, Explore, Explain, Elaborate, Evaluate / RN EGE KA I | , O[T, ﬁﬂﬁ, IEEITW

Correct Answer :-

« Engage, Explore, Explain, Elaborate, Evaluate / W, 3N , o, ﬁﬂﬁ, W

12) One of the following factors is NOT a cause for learning disability: /

frafafaa § 9 &9 91 SRS JRATH eHdr ST FRU L] 8:
1. Behavioral disturbance / W faeT
2. Emotional disturbance / HTd-TT&p faeT

3. Cerebral dysfunction / (CITI'W ﬁTD W feathar™
4. Cultural influence / W UHId

Correct Answer :-

« Cultural influence / W UHId

13) Child-centered pedagogy means: /



T-THEB s IRIET-IATH BT - 31 &:

1. Letting the children be totally free. | S<dl Bl U;Uf w0 Y WA 36 ol

2. Putting the children in the center and observing them. / Sl B g H TGN 3R I Saaidhd HRAT|

3. Giving primacy to children’s voices and their active participation. / Sl B STl 3R 3! Afshg
e HIRTAT &) URadT <1

4. Asking the children to follow and imitate the teacher. / S<d| 1 fR1&/d &1 ST P TUT THd H & forg
Dol

Correct Answer :-

« Giving primacy to children’s voices and their active participation. / Il 1 3MTaTSl 3R 3! Ffeha
T HIRTAT &1 gadT <1

14) Children become active members of their peer group in which of the following periods? /
= fA=forfaa A 9 5w eafy & sram ardt uye & afha Geg sd &2

1. Late childhood / STATIRIT & IS

2. Early childhood / Jd STeaTa®l
3. Childhood / dTeTdRYT
4. Adolescence / THTRTARIT

Correct Answer :-

« Childhood / STeHTARIT

15) Thorndike’s instrumental conditioning is famously known as: /
YIS B SHCA DI, OId: 39 449 § ot S+t el 2:
1. Latent learning / 3o {TeRTH

2. Trial and error learning / URI&0T U4 Ff S1ferTH

3. Insightful learning / ey e

4. Classical conditioning / FATRIB S Da =TT

Correct Answer :-

« Trial and error learning / UR1&0T Td ¢ 3ffeTH

Topic:- AGRICULTURE

1) Potato belongs to the family of ./



31T URaR A Heftd g1
1. Crucifereae / W

2. Compositeae / HIIfoTE

3. Solanaceae / -4

4. Legume /W

Correct Answer :-

» Solanaceae / @aﬁ?ﬂ

2) The improved seed distributed to farmers for commercial cultivation is: /
a3 aiftifeus @t & forg faafva = diw FA g &

1. Foundation / 3414

2. Breeder / Yol

3. Nucleus / Y&

4. Certified / FHTIOId

Correct Answer :-

« Certified / GHIOIT

3) The method of mass communication is: / = Udh ol TR D fafy %:
1. Farm visit / Ad &1 YA

2. News paper / JHHR UA

3. Group discussion / W EEl

4. Demonstration / TG&H

Correct Answer :-

« News paper / HIHR UA

4) Sub-soiler plough is best suited for ./ G9-Tsa g & fore Taffae suge giar
gl

1. breaking hard fan / €31 1A (8T8 Uh) Pl dlg

2. inter cultivation / 3{d: PV (SR HecIaTM)
3. making ditches / @'Ié (ﬁ':%m) CEIE]
4. deep ploughing / Tl T{FITS:



Correct Answer :-

-~

. breaking hard fan / €3 TdTd® (TS B) &I Al

5) The chemical mutagens usually induce ./

IS IARTd QTHRI: 3! IRd Hd B

1. chromosomal breakages / W cc-hc
2. chromosomal translocation / ‘IUEEﬂH RJIEIGRY|

3. gene mutation / S ARG

4. none of these / 3711?[ ) ﬁ‘s‘ :@3[

Correct Answer :-

« gene mutation / 519 RICIRCRE|

6) Soil particles deposited by flowing water is called .
S5 U UM gRISW P M qaT S w01 gl
1. colluvium / ﬁ[’ﬁn—f{

2. albedo / eSS

3. alluvium / W
4. aquifer / SICTHY

Correct Answer :-

o alluvium / Gl?hw

7) Glyphosate is the active ingredient of: / TATSHINE A &1 U Afpy Jues B:
1. Treflan / SOl

2. Himore / %ThT

3. Round-up / JFS-30

4. Gramoxone / ITHIG

Correct Answer :-

« Round-up/ A38-30

8) If the marginal product is more than the marginal cost, then further investment in production
is ./



I YT GRTd PI AT H JHHATT TG MUP &, A SAGA H SFAT A §lAT 5l
1. harmful / BB RSD

2. equal / SRTSR

3. profitable / ATHBRI

4. no effect / FISTHTE

Correct Answer :-

« profitable / ATHDRI

9) CANCELLED

Beet root stock for citrus in South India is: / f&I0T YR & ﬁlﬁ Cg 1Y qhe C4| S§ Bl wie A= 3:
1. Citrange / ﬁ@ﬁ

2. Cleopatra mandarin / faeaider HeTRA

3. Turnip / RMeTSTH

4, Rangpur lime / QTIH? NIEE!

Correct Answer :-

- Rangpur lime / TG AISH

10) CANCELLED

Identify the compound formed when sucrose undergoes fermentation reaction?/
W19 Gepiol fhua ufaferar & TeRd! 8 di 1fed N ot ugar w32

1. Propanone /uﬁﬂﬂﬁ

2. Propanal /mﬂma

3. Ethanal /Q’a:l'l?f

4. Ethanol /Qa:ﬁ’?[

Correct Answer :-

« Ethanol /Qa:ﬁ%‘[

11) CANCELLED

What is the disadvantage of ploughing in arid and semi-arid zones? /

IR YT 3AG-FHR &3 | TS B BT T TP 82



1. Reduced root growth / 5TS I q@ HHH

2. Loss of soil particles / &l &Nl @1 &ffd

3. Loss of soil organisms / Hal %ﬁ&ﬂﬁﬂaﬁ &1 &fd
4. Loss of soil moisture / {al &t TH Dt &fd

Correct Answer :-

« Loss of soil moisture / &1 &1 FH! 1 &ifd

12) Which part among the following is absent in buffalo as compared to cow? /
T 1 o | 4 | B4 a1 e srgufya giar 82

1. Dewlap / TTelch e (:c:qﬁu)

2. Pastern / T:I?ﬁ @Tﬁ&l}

3. Neck / TITZE_"T

4. Knee / §c-Il
Correct Answer :-

. Dewlap / TAHEA (SYY)

13) Pungency in garlic is due to: / e o Jraras 7 S SRS 5:
1. Lycopene /Fﬂ's{ﬁtﬂ:[

2. Diallyl disulfide / ST SISUAPISS
3. Allyl propyl disulfide / Tferet UIfUd SRAHIZS
4, Allicin / Qﬁ"lﬁlq

Correct Answer :-

« Diallyl disulfide / SPNNIN SIENKSAES]

14) The process of removing of bark on stem or branches of fruit crops is known as: /

Bl B B $ a9 AT MERI R BTA B geA B Ufbar | & g A ST Sl B
1.Eye/\3'|'|_5c
2. Cuttings/w

3. None of the above / dqfidrl oy d;l'{:'_'lgsf

4. Patch / ﬁ%r



Correct Answer :-

. Patch/ U

15) Central Potato Research Institute is located at ./
PH G IJEYI IR A fRE I

1. Jammu & Kashmir / Gﬂﬁ\’:ﬁ? HRAR

2. Shimla / fRIe

3. Punjab / UEIC|

4. Pantnagar / Ud-TR

Correct Answer :-

« Shimla / FREaT

16) Fruit crops propagated by seeds, bear flowering. /
T GRISTE T Pa- I P Bad, P darddl gl

1. early / Sledt

2. no flowering / ﬁ_’if hd :i_E?[

3. none of the above / E:I'»af I aﬂ's‘ :@:T
4. late /é?ﬁ

Correct Answer :-

. late /XY

17) Harrow is drawn by: / %?3[ Cal g YT ST % |
1. Only diesel /W Eﬁw

2. Only tractor / Had %EET

3. Only bullocks / Fad Sdl

4. Both bullocks and tractor /é?ﬁ 3R %ATET aHl

Correct Answer :-

« Both bullocks and tractor / ad 3R %ATET al

18) Losses of nutrients in soils can occur due to: /



™S H 9Ius ddl DI HHT & PRIl TPl 5l
1. Leaching only / ad fF&Ta

2. Nutrient removal by crops only / Had HaAl B FIN TN ddl &l HbTeq

3. All of these / ITYad Tt

4, Erosion onIy/W &RUT

Correct Answer :-

o All of these /B'Clgﬂﬁﬂﬂ-ﬁ

19) Salad crops are those crops that are used for ./

G BHd, a BHd gidl § ol & ferg SuahT &5t eirdt 71
1. ornamental purpose / Jolact 3=

2. latex extraction / é%a%r ﬁWﬁfUT

3. canning /%@Wﬁ m

4, raw consumption / P 0 H Jud

Correct Answer :-

« raw consumption / P 0 H Gud

20) A virtual and enlarged image is obtained at a distance of 20 cm from a convex lens of focal length 10 cm.
Where is the object placed in front of the lens? /

10 A BId aTS aTed T Sud ol | 20 TH 31 g8 I U et iR ermafifa o3 ura &t et
21 99 & U a¥g Hel U= W1 4T 82

1. 20/3 cm from the lens / & ¥ 20/3 @'lﬂfg
2. 10 cm from the lens / T8 I 10@111?

3. 20 cm from the lens / T 20 @T?[ER

4. 3/20 cm from the lens / g g 3/20 It X

Correct Answer :-

e 20/3 cm from the lens /G 20/3 @'lﬂfg

21) Lime stone is used for the reclamation of which of the following soils? /

Frafafea & 3 19 @ ga1 & JurR F e, 39 o1 IR (@150 ©F) Wge f6ar s 82
1. Laterite soil / a%TI_Sf_C'IET



2. Acid soil / 37T Hal
3. Sodic soil / HIfSH Fal
4. Alkali soil / &TRIT HaT

Correct Answer :-

. Acid soil / 31T FaT

22) The physical property of soil which cannot be changed is: /
71 ®1 a5 Hifas qurerd, o uRafda a8 fear s awar 6:
1. Soil structure / HeT T

2. Soil texture / Hal dqIdC

3. Soil colour / J&I AT

4. Bulk density / ¥Jc] Udcd

Correct Answer :-

+ Soil texture / Hal d-Idc

23) Viviparous seed are reported in: /
SRTg st A= # uTe ohe €

1. Grape / 31X
2. Mango / 3TH

3. Papaya / Ut
4. Jackfruit / cgd

Correct Answer :-

« Jackfruit / dbced

24) Potassic fertilizer(s) most suitable for potato and tobacco is/are: /
3T 3R TR & 1T Fad Iugw UleThie Bidargek §1d &:
1. Sulphate of potash onIy/%F’[th?l'ﬂ%ﬂ?eh_c,r

2. All of these /G'Cl'éaﬂﬂ“-ﬁ

3. Schoenite onIy/WQn_rﬂ%_c’

4. Muriate of potash onIy/WW%W



Correct Answer :-

 Sulphate of potash only/m qIeT & ohe

25) Which of the following herbicides is used as post emergence in wheat? /

frefafea o @ o9 a1 et 38 9 vy 3gd & ¥ A uged faar 9iar 82
1. Atracin / TCTRIA

2. Glyphosate / TATSHIRIC

3. Fluchloralin / TReIGRTIRTCI

4.2,4-D/2,4-31

Correct Answer :-

« 24-D/2,4-8

26) Which of the following instruments is used for measuring angles of slope? /

A & BIVN B A9 & forg FFrferfeaa & |/ o149 |1 Susor yaiT fbar s 82
1. Graphometer / ATHIHICY

2. Inclinometer / AT (ZFTgAMIER)

3. Macrometer / HEBIHICR

4. Optical square / 3ITPIH T a¥f

Correct Answer :-

« Inclinometer / KIEIREEI] (saﬂﬁthm

27) is the farming practice of plowing across the slope of hills. /

__ UgIfedl @l ead W Wdl 1 JdTg 1 3t U [afU gl
1. Crop rotation / Ud 3TadH (19 AcT)

2. Terracing / HIGIGR (SR

3. No-till farming / SdTs-Ifed Wl (AI-fed Wi

4. Contour ploughing / TRYWT SdTs

Correct Answer :-

« Contour ploughing / S| EERGID| T{Fﬂé



28) Command Area Development Program was started in ./
Fuis A fap ey ¥ 3= frar mam un

1. 1982-83

2. 1970-71

3. 1978-79

4. 1974-75

Correct Answer :-

« 1974-75

29) The cooperative movement was started first in ./

HEPRI Sfiga-T HdqYd # yreH fooar mar i
1. Germany/Glﬁzﬁ

2. USA /guyUu
3. England / 3_’%_6'

4. India / HRd

Correct Answer :-

« England / 3”%_5'

30) Ina system of planting, row to row distance is greater than plant to plant distance. /

AuuretTe_ fafud e J qe & g B gamn A ufea @ ufea 9t g eiftre gt 2
1. rectangular / 3TUdIHR

2. diagonal / fadmof

3. square / ATMHR

4, triangular / ﬁﬂj\_ﬂW

Correct Answer :-

« rectangular / ATdIHR

31) Which disease in rice is caused by zinc deficiency? /

i &Y it & gRT ITad § I T I a1 32
1. Khaira disease / @T[ﬁr[



2. Bacterial blight / GﬁTﬂTﬂTﬂ SATHRT (a_cl?ﬁﬂtﬂ SYIES)

3. Bacterial leaf streak / \_rﬂa'l'qj,\_rf quf quRRET m NI @Aﬁ
4. Sheath blight / 3T q STHART (Y sA120)

Correct Answer :-

o Khaira disease / BRI AT

32) Carrot belongs to the family: /

ok 39 URaR | Hafid &
1. Umbelliferae / 3T
2. Malvaceae / ATAIA

3. Cruciferae / W
4. Solanaceae / @F’Iﬁﬁ){

Correct Answer :-

« Umbelliferae / 3T

33) Infection of Coccidiosis disease can infect the bird up to the age of ./
DIRITSTAT I BT HH AT aP B 1Y & el Ht HepHd B2 Jhdl g
1. 3 weeks / 3 T«ile

2. 1 week / 1 Hidlg

3. 5 weeks / 5 didlg

4. 10 weeks / 10 T

Correct Answer :-

e 10 weeks / 10 Htdlg

34) Name the advanced stage of rill erosion? / ¥ 3ruRed & IFd TR BT AT gdrg?
1. Stream bank erosion / & §& 3R

2. Gully erosion / o1l {uRGH

3. Splash erosion / TP HUIG

4. Sheet erosion / TMT HURGA

Correct Answer :-



 Gully erosion / grel UG

35) Name the soil microorganism which is free living bacteria and non-symbiotic? /

I YT JEASIIg BT ATH FdT¢ St Wqa 3 Siifad ¥g- arem deciivar iR iR-geeiidl 82
1. Azospirillum / TSIROTZRH
2. Azatobacter / TSlicldaeR

3. Rhizobium /ﬂ%ﬁhﬁ'ﬂ'ﬁ[
4, Blue green algae /il &R Qard

Correct Answer :-

. Azatobacter / TSllCIdaex

36) Scum formed during the dissolution of soap in hard water is the precipitate of: /

HOR o | g & fage & G A ygae a1 76 a1 o1 sadu g g:

1. Magnesium and calcium salt of mineral acid / ARREH 3R WHS 3rd & By daur

2. Copper and calcium salt of organic fatty acid / PIUR R FHIaP G- 3T & BT FauT

3. Calcium and magnesium salt of organic fatty acid / FqTH 3R HIef aI1-3d &b HAREH Fdaur
4, Sodium and copper salt of organic fatty acid / TIfSTH SR Sl JII-31 & HIUR Aq0l

Correct Answer :-

« Calcium and magnesium salt of organic fatty acid / PITTH 3R DIE TI1-3 b HAREH Fdaur

37) Laterization is a process of accumulation of in soil. /
A, qaTH & AUV & forg Ft & arelt ufhar g
1. CaSO4 / CaSOg4

2. CaCoz / CaCos

3. silica / fRyferepT

4. iron and aluminium oxides / T Qa Wﬁ’qﬂ GT\IWEE

Correct Answer :-

« iron and aluminium oxides / ATIXA Qa Wﬁ’qﬂ HVWE@

38) Barograph is used to record: / RN = & A ﬁI'E Ugdd Ea?IT %:



1. Soil strength / IET"VTIT[?IT
2. Soil water potential / QT ST¢T &HdT

3. Soil temperature / Hal dTUHIT
4, Continuous record of atmosphere pressure / aTﬂﬂ?:T*ﬂz[ a1 o1 fFRaR Rl

Correct Answer :-

« Continuous record of atmosphere pressure / aTﬂﬂ?:FﬂT[ 21§ &1 R Rl

39) Wax coating treatments enhance the shelf life of fruits because it blocks: /

%ﬁﬁﬁmﬁﬁwﬁmmmﬁwmﬁﬁma@m%,mwﬁﬂﬁmm

1. Pollination / URTITOT

2. Respiration / A
3. Ripening process / U+ &I ufhar
4, Transpiration / GRS

Correct Answer :-

» Respiration / kY

40) If the base radius and the curved surface areaof a cylinder are 6cm and 528cm? respectively, then its
height is: /

afe TP 909 & MUR $ U1 Td T T¥IT A d FHRM: 6 QU T4 528 AH2 §, 99 3P HATS ©:
1.21cm /21 TH

2. 7em /7 94

3. 12cm / 12 941

4. 14cm / 14 941

Correct Answer :-

« ldcm/ 14 96

41) Pungency in chilli is due to: /

it o Frau= 1 PR B:
1. Cucurbitacin / PRI



2. Capasicin / HUARA
3. Capsanthin / FUARA
4. Glycoprotein / IIECAPIEE

Correct Answer :-

+ Capasicin / FUIRHA

42) is done by the person who is implementing the Program. /

¥ UfHI GRT B ST § Sl $RIHH B HrATad HL BT
1. Monitoring / AR
2. Rejection/&w

3. Confirmation / WUT
4. Evaluation / HeTh

Correct Answer :-

« Monitoring / AR

43) Hill soils are generally ./ qddig e AWd;, gl g1
1. alkaline / &I

2. neutral / 3G

3. acidic / 3FATT

4. saline / A0

Correct Answer :-

. acidic / 3T

44) Cold temperature treatment of seeds for inducing germination is referred as: /
PR U A & fore diwl | 68 A= AR i & U H ST ST g
1. Vernalization / IR0l

2. Sterilization / faGHHUT

3. Stratification / TIRIRUT

4. Scarification / UTeSTd

Correct Answer :-



« Stratification / ¥dRIH 0T

45) The fertility level of any soil is generally determined by: /

fopdt it Frdh 1 worAH R SR WR 39 g1 fAeffya gar @:
1. All of the above / G'q?j?ﬁ gt

2. Aeration and hydration only / Had ard 3R E§I$:§-‘2I"I

3. Humus and mineral contents only / PHad gl 3R @i gefat

4. Hydration level only / had B8 S Wi

Correct Answer :-

« All of the above / G'Cl'éﬁ gt

46) The overhead cost is also known as: / IURENTA (3Ma¥e®) &I f= 9 I WY ST ST @
1. Marginal cost / dHHid arTd

2. Variable cost / TRAT-1T AT

3. Total cost / I <Td

4. Fixed cost / FRR dTd

Correct Answer :-

. Fixed cost / TR AT

47) The statistical procedure for estimating whether the difference under study is significant or non-
significant is known as: /

IE SHTE A & e wiferea ufrar & 6 sivras & agd oiar Heayy & a1 R-Tewqf &:
1. Level of significance / Agw@ BT TR

2. Sampling / UfdesiT (&wafem)

3. Test of significance / TTIH T TRI&OT

4. Standard error / AT FfC

Correct Answer :-

o Test of significance / T gteur



Yl HT, YT YT BIRAP AT DI = & STIRT GIRT HIUT ST bl B:

1. Weighted harmonic mean / HIRA SIS HegHH (das SRHI® Jﬂ?)

2. Mode / Sga1® (HIS)
3. Geometric mean / STTHAR &AM (SAAT¢H HiF)

4. Median / AT (HIFST)

Correct Answer :-

« Median / A& (Iﬂ'%'qm

49) The stem above the ground in banana is known as: /
AT YT F SR P a1 o1 - peTomEare:

1. Trunk / ddT @

2. Rhizome / g (TZSIH)

3. Sucker / FHdH (HPX)
4. Pseudostem / BT (TS IRcH)

Correct Answer :-

« Pseudostem / Bl (RS R<H)

50) The inability of a hybrid to produce viable offspring is known as: /

agrd dfd I= B | W TP 9 (@Tsfos) & = & =0 o =1 wrar &
1. Hybrid sterility / Gbx §&IdT (STEfsie Txferel)

2. All of these / JURTSRT JH

3. Hybrid breakdown / 3 fawR (Eﬂ%@@' WBT‘D

4. Hybrid inviability / HhR Siia--3{&HdT (BTfeie garsiaferet)

Correct Answer :-

« Hybrid sterility / TSP &I (STSfore Txferel)

51) The earth’s magnetic field at a certain place has a horizontal component of 0.3 x 10T and the total

strength is 0.5 x 10T. The angle of dip at that place is: /

TS FAIf3a R R gdt & gaaig &3 &1 &fas 9e® 0.3 x 10T 8 3R Fa 9w 0.5 x 10417 8139
I W f$u B g:



1. Cos™! 3/4
2. Cos™1 4/3
3. Cos™' 3/5
4. Cos’! 5/3
Correct Answer :-
« Cos™! 3/5

52) The plough used for maximum moisture conservation is: /
iftrean 74t TR0 & forg IwRIed g 1 IUANT fhar STt &:
1. Chisel plough / EISNES)

2. Cultivator / e idex

3. Disc harrow / [&%& %ﬁ

4, MB plough / THET 8

Correct Answer :-

« Chisel plough / iold 86

53) The most commonly used pumps in tractor hydrauli¢c system are:./
ey gTgsifae e ¥ f= v 9= v 9 Tailte wyged gl §:
1. Piston types / fieq @12y

2. Gear types / R ergy

3. Vane types / aq cIgy

4, Centrifugal types / @I;\nl U NREED

Correct Answer :-

« Gear types / TR <184

54) The pesticides that act by permeating the entire plant are said to be: /

q PIeATRIS ol ¥ MY BT G HIP AU =T F 3T Hd 8, (4 Head o:

1. Penetrating pesticides / NGH PICATAD (aelaléll a@ﬂm
2. Porous poisons / TRY fay (an UT%TSFD




3. Systemic pesticides / FaN N PICARID (RRCHICH UK ATS )

4. Contact poisons / e faw (d?T'EdC H\Ils\rl'-l)

Correct Answer :-

+ Systemic pesticides / FaT HleARIS (Rreenfes aﬁjmlggﬁ)

55) The site of protein synthesis in a cell is: /
TP PIRTST H Y S0 f RIF R FaT 8:

1. Chloroplasts / RATA® (FARITRT)

(N (a

2. Endoplasmic reticulum / 3FIGAIT SITTAIT (TSI Y HaH)
3. Ribosomes / TI%@@I[
4, Mitochondria / Ins‘cﬁﬁ%m

Correct Answer :-

« Ribosomes / Tlﬂ_cﬂ@'ﬁ[

56) Puddling is done to: / E@'I%FT % fore &t St f
1. Pulverise the soil / H&l Gl PR A

2. Level the field / Wl I SRTSR PR
3. Reduce percolation of water / U & 3idl:Haur & St dxA
4. Kill weeds / GR-UTAR T8 B

Correct Answer :-

« Reduce percolation of water / U o 3id:9qur H HH HeA

57) Inbred lines in maize are maintained by: /

HFRPT H 3. USTd 925 H (39S A15) 1 & GRT AafRyd o1 3:
1. Cross pollination / HHR GRFTOT

2. Self pollination / ¥d-URTTUT

3. Open pollination / }gcIT YXNTUT

4. Sib pollination / & GRETOT

Correct Answer :-

« Self pollination / ¥d-UNTU]



58) Ten cousins A (eldest), B, C, D, E, F, G, H, I, and J having an age difference of 4 years each decide to go
for a picnic. If J being the youngest is 6 years old, then what is the age difference between A and J? /

9 TR HISl A (|T), B,C,D,E,F,G,H,I T4 J B 39 H 4 99 &7 3ia & au1 I e R wE @1
frofa o3d &1 afe J I BIeT 8 TUT TP I 6 TY 8, df A T J & ST IY BT 3 T 82

1. 40 years / 40 G
2. 38 years / 38 9%
3. 42 years [ 42 Ty

4. 36 years / 36 CL

Correct Answer :-

« 36 years/36 CL

59) Success in rural development project depends upon: /

aretor i ufatesn o wad e R Rk et e:
1. Participation of beneficiaries / W“—ﬂfﬁ &t ﬂ_s"l-l'lﬁ?ﬂ

2. Amount of subsidy / € P YRR (ﬂ'@l@ TIﬁT)

3. Regular training of workers / HIIRI ! FHafira ulRieon

4. Regular contact of workers / BRI O Fafid dud

Correct Answer :-

« Participation of beneficiaries / ET'J-ITW &t ﬂ_s"l-l'lﬁl?ﬂ

60) Mention the pressurized irrigation systems? / Eﬁﬁ?ﬁl’d Riarg yurelt &1 I B2
1. Check basin irrigation / aRE ﬁﬁﬂg P S B

2. Border strip irrigation / CIER @'q ﬁﬁﬂ's‘

3. Furrow irrigation / % ﬁﬁlﬁc

4, Sprinkler and drip irrigations / fSiweR iR ﬁ:{q ﬁlﬂ]‘s‘

Correct Answer :-

« Sprinkler and drip irrigations / fSiHeR iR E'q s

61) Planting of succeeding crop before the harvest of a standing crop is known as: /

TSl FUA B HeTs A Yd 3gadl Bad & AU i & U A THETSEr |



1. Multiple cropping / dg I (HeCITd ShITUT)
2. Mixed cropping / THI3d T8 (FIaRTS Hifum)
3. Relay cropping / 3JUc ¥ m m

4. Inter cropping / 3{dRT &I (S hITU)

Correct Answer :-

« Relay cropping / 3{JUq I (ﬁlﬁ a'_)ﬁm

62) What is the necessity of raising calves? /
TSI P! 9CM B FIT FEId ad 22
1. Only to reduce mortality in calves due to poor management. /
Had HUSIR YU & HRUI TS| bl G H HH! R &b fory
2. All of these / SURTGRT FH
3. Only to build a good dairy herd with pedigree animals free from hereditary defects. /

Al dRITId G J Hof d=ITaet T3l o 1Y Teb 351 ST S &1 & oy

4. Only to achieve early maturity and productivity. /

had 2y uRugad! d IdTedhdl Ui R+ fou

Correct Answer :-

- All of these / SURTG GHT

63) A year is considered as drought year, when there is: / dg ﬁm HIAT SITdT %, uolq -
1. 85% less rainfall than normal / THTT T 85% HH au‘f Eﬁ?ﬁ %

2. 25% less rainfall than normal / ITHRT A 25% HH GL] Eﬁ?ﬂ %

3.75% less rainfall than normal / THTRI ¥ 75% HH a9 Bl &

4. 50% less rainfall than normal / ITHTI A 50% HH aﬂf@?ﬁ %

Correct Answer :-

« 75% less rainfall than normal / qTHTI ¥ 75% HH au‘faﬁﬁ %

64) ICAR-National Academy of Agricultural Research Management (NAARM) is located at: /

STSHTIAR-ITETT FIY ST T STt (TAUTREH) fA e A R 8:

1. Karnal / &A1



2. Hyderabad / I

3. Nagpur / TNTYR
4. New Delhi / '_‘|§ oot

Correct Answer :-

« Hyderabad / %aﬂala

65) Feeding of tender sorghum fodder results in: /

S SGR BT IRT@H P IRUTAGEY = ghar 3
1. Oxalate poisoning / 3fiqacie fauTe

2. Cyanide poisoning / YIS S IELIESE]

3. Nitrate poisoning / ?I@‘c' ICLIESE!

4. Saponin poisoning / JUf fasTad=

Correct Answer :-

« Cyanide poisoning / TT-TSS fAuTa—

66) Ring worm infection in cattle is caused by: /
HafRraY # e S ehavr A= & SR gl 6:
1. Virus / ﬁw

2. Fungi / ddh

3. Bacteria / GﬁaTQI
4. Parasite / O¥SiIal

Correct Answer :-

« Fungi/®ddh

67) Which of the following nutrient imparts disease resistance to crops? /
frufafaa 3 @ o9 a1 v 9@ Bl & forg I ufertus ueH #ar &2
1.N

2.K

3.Cl

4. H



Correct Answer :-

- K

68) Which of the following is a major symptom of Brucellosis disease in cattle? /
HafRral § g A & feafefea # @ o uqa a4 §id 82

1. Profuse nasal discharge / 3P ATH dedl

2. Lameness in affected legs / TR TR | UG

3. Abortion mainly during advance or late phase / ¥ U | %j;baﬂ?ﬁ 7 3ifad wRoT § U
4, Bleeding from natural openings / W &l I IFaaTa gl

Correct Answer :-

. Abortion mainly during advance or late phase / T & ¥ Y[&31Tcht AT Sifcd wror & mefurd

69) Which of the following is a partial root parasite? /
fFrafafea o S« v Siiftie o weidl 82

1. Cuscuta / dIpHcT

2. Striga / R

3. Loranthus / AR

4, Orobanche / 31T (m

Correct Answer :-

o Striga /I@jl

70) Which of the following is NOT an American breed of poultry? /
fFrefafea & 3 w19 @ papeured #1 e smfive! v a8 82
1. Cornish / BRI

2. New Hampshire / Q%W

3. Rhode Island Red / 1S 3MTZCIE ¥

4. Plymouth Rock / WITSHISY

Correct Answer :-

« Cornish / DI



71) Which of the following is NOT essential for germination? /
3ipur & fore fA=fafaa # 9 war smazgs 8 82
1. Wind / Ud-

2. Soil / HaTl
3. Water / SIc]

4. Air /dIYg

Correct Answer :-

« Wind /Ud-

72) Which of the following is NOT a system of farming? /
frafofed & & w1 g @t 3t gomedt 76t 32

1. Collective farming / W il

2. Rain fed farming / quf Rifera @t

3. State farming / RSCARREL|

4, Cooperative farming / HebRI Wit

Correct Answer :-

« Rain fed farming / guf Rifra @t

73) Which of the following is NOT a method for water conservation? /
Frafafea & @ o1 1 e oo wRer 3t fafl o1 Igmevor 18 32
1. Avoiding water wastage / Ul &1 Saie e

2. Improving irrigation efficiency / s emar o GYUR HIAT

3. Groundwater extraction / 'ﬁ[&l’rlﬁ o fsmsr

4, Rainwater harvesting / auf o JYgul

Correct Answer :-

- Groundwater extraction / HfETd Sl FSH 0T

74) Which of the following is the quickest method of lawn making? /

frfafea % @ o149 a1 aiq 9 1 99 d aRieT 82
1. Turf plastering / T R



2. Turfing / Tl
3. Seeding / IS
4. Dibbling / f&afeiTT

Correct Answer :-

+ Turfing / efthfeiT

75) Which of the following is an organic pesticide? /
frfafea 3 9 w1 @@ Sfas Sieame 82

1. Zinc phosphate / S widhe

2. Neem extract / 19 BT 3fch

3. Blue copper / BINIKIEI]

4. Chlorpyrifos / FARUTZRIH G

Correct Answer :-

« Neem extract / 18 T b

76) Which of the following micronutrients is essential for the synthesis of auxin? /
SATTRT" & HRAWUT & fore fo o & forey g tiue ot STaga s dr gidl 82

1. Mn

2.Zn
3. Silicon / RferpTa

4, Cu

Correct Answer :-

77) Which of the following methods of irrigation has the highest water use efficiency? /
Riarg & Fufafea 8ol § 4 fad 3w a SuahT gamr 32

1. Sprinkler / fBieper

2. Drip/ ﬁ';'q

3. Surface / Hdg

4. Furrow / $S



Correct Answer :-

. Drip/ﬁ';'q

78) Which of the following is not the part of male reproductive system? /
frafafea & @ w1 =R 994 @3 &1 URT g 82

1. Scrotum / W’q

2. Testes / 9UUT

3. Fallopian Tubes / YR A1

4. Epididymis / S{&quuy

Correct Answer :-

« Fallopian Tubes / YT 1

79) Which one of the following statements is wrong about heat energy? /
ST ol & IR | FafifEd & 9 o9 91 0@ $UH 794 82
1. Heat energy can be focused to a point by a lens. /
ST S0l U o GRT U foig TR hisd &1 off Tahell |
2. Heat energy can be transmitted through a glass plate. /
ST 51l U BId Dl Wic o HIEH J UNd Bl off bl 5 |
3. Heat energy can be reflected by a mirror. /
ST Sl T GUUN ¥ WRTafid g1 9l 5|

4. Heat energy cannot be used to do work. /

BT B P 17T ST St BT YA T8} {1 ol Ghar 2|

Correct Answer :-

« Heat energy cannot be used to do work. /

BT B B oI ST Sol b1 FaNT 7T o o gba1 B

80) Which one of the following is NOT the mode of radio broadcast? /
frfofea & @ e R &1 |y =8 32
1. Lectures / HIYUT T SqRAT

2. Straight talks / ieft ard-<fta



3. Songs / T
4, Interviews / HI&ThR

Correct Answer :-

« Straight talks / Itefl STd-<td

81) Which one of the following is NOT a tool of farm management? /
frafafaa ¥ @« Q@d yded 10 ¢d 81 82

1. Farm planning / S T

2. Farm bookkeeping / B Serardl

3. Farm budgeting / w AU

4. Production and cost function / ST Q_d Al lenllf

Correct Answer :-

« Farm planning / ST IS

82) Which one of the following conditions is the reason for the seedlessness in “Thompson Seedless”
grapes? /

fFrafafaa ¥ 9 o 9@ Rfa 4T Heaw iRl 3 5.9 81 31 FRUT 82
1. Parthenocarpy / BIREIEA

2. Incomplete flower / GfCLUf hd
3. Non-viable pollen / 3{d &8/ TR

4. Stenospermocarpy / TCARGHBIH

Correct Answer :-

+ Stenospermocarpy / TCARGHIBIH

83) Which one of the following phosphatic fertilizers is a by-product of steel industry? /

fFafafEa wiabfes Ide! | I B AT ST ITURT BT UG 82
1. Basic slag / §ATG YTqHA (SFH TT)

2. Nitro phosphate / Tg¢] hi&he

3. Single super phosphate / RITTel YR Hidhe

4. DAP / SiqUt



Correct Answer :-

 Basic slag/m YrgHT (éﬁ@m

84) Which type of soil exhibits self turning property? /
e yor o frg Aew eff urad vefRfa ovd 32
1. Laterite soil / é%ﬂs? ﬁré’[

2. Alluvial soil / STellg fHg!

3. Red soil / oIl ﬁl@of

4. Black soil / STl &I_gp[

Correct Answer :-

« Black soil / &Tdll &I_gp[

85) Which part of root absorbs water and minerals? /

W€ BT B TT YRT o aUT Wirell &) Sad HIa1 a2
1. Root cap /Hff"n'q(?‘\_d%m

2. Root hairs / HcT H (c %tlﬁ)

3. Epidermis / dTglcddl (Qﬁl@'m)

4. Endodermis / 3fd:dl (@m

Correct Answer :-

+ Root hairs /H\F‘fﬁq W%ﬂﬁ)

86) Which of following vegetables does not require specific low temperature before flowering? /

fFrefafea o 3 o9 @ =il # paq | vga fafkre A= arau= 9t srazaear T8t gkt 82

1. Beet root / gha
2. Brinjal / ST
3. Cabbage / demmat

4. Onion / ©TS

Correct Answer :-

« Brinjal / ST



87) Which method of estimation of available phosphorus is used for neutral and alkaline soils? /

TR 3R & Fd) & SUeiey BTEpRA & TP 3 PI IT 31T SYTNT fohaT SITaT 82
1. Olsen method / 37T fafdr
2. Bray Il method / & I1 fafd)

3. Bray I method / s 1fafd
4. Kurtz method / W\ fafdr

Correct Answer :-

e Olsen method / 3N fafyr

88) Which method of milking is used in commercial dairy? /

e S8 & gy Frerem a9 d19 @ il e @ 22

1. Machine milking /mzﬂq@rg‘am (@RI fafeh)
2. Fisting / ftpfT

3. Knuckling / TdEY (AT
4, Stripping / IEEIE] (@ﬁ"’l}

Correct Answer :-

« Machine milking /mﬂ:r@gugs’m GRIBAEIG )}

89) Buttoning is a physiological disorder in: / gef+w e ° g1 aren TS RIS fearse @

1. Garlic / dgg-
2. Cabbage / Ul |

3. Onion / YIS

4. Cauliflower / Bd Tt

Correct Answer :-

+ Cauliflower / Pocd Mt

90) How many ATP are required to produce 1 mole of hexose in photosynthesis? /
WHTR HXAYYT | 1 T garel & =uior & forg fsas ATp &t mazasn gidl 82
1. 18

2.8



3.38
4.28

Correct Answer :-

« 18

91) Chemicals that inhibit the feeding in insects when applied on foliage without impairing their appetite is
.

T S Y@ B AT A A Tl WA A P A aor s b eare, @l
1. attractant / TSI

2. repellent / TS

3. antifeedant / 3RFRIE

4. none of the above / 3?13[ q ﬁé 7‘|€[

Correct Answer :-

« antifeedant / MR

92) Spraying or dusting of gammexane, DDT or malathion is done for the management of which disease in
poultry? /

T # MR, SIS a1 Aafia <1 fSsore 590 A fod A SuaR & v A faar sirar g2

1. Nematode / AP Y (AHICIS)

2. Flukes / TUTGH T (TRIERT)

3. Ectoparasite / CIRERSIE] (Qaiﬁﬁ?mg‘c’)
4. Coccidiosis / PRI

Correct Answer :-

. Ectoparasite / STETURSIA} (TFIORTATIT)

93) Hydrocarbons X, Y and Z have melting points equal to — 190°C, — 110°C and — 90°C, respectively. Which
one of these hydrocarbons has the maximum number of carbon atoms? /

BIZSIBTEA X, Y 3R Z & TeHid HHIM: — 190°C,— 110°C 3R — 90°CHF R & | 74 A I I T
BISSIBTa | Ha- UV Pt Siftrwran W@ 8?2

1. All three have the same number of carbon atoms. / FHI diFl & WIE&-[ WTUlGﬁ &1 =T JHE Eﬂ?‘ﬁ % |
2.7

3.X



4.Y

Correct Answer :-

o 7

94) CANCELLED

Although ammonium nitrate is an ionic compound it contains: /

I STHITNIH ATSEE U AT Y § SHH SAEAT gIaT Z:

1. lonic and covalent bond only / ad 3T 3R gL MY

2. lonic bond, covalent and coordinate bond / 3Ma- (&Y , TeTdIol, IUTEHATST §¢
3. lonic bond only / FaeT ST ML

4. Covalent and coordinate bond only / FgEITSIT 3T ITHGEITSIT T

Correct Answer :-

« lonic bond, covalent and coordinate bond / 3T 3MTEY , TgTdoH, IUTGTTIS §¢

95) CANCELLED

Which of the following is NOT a feed additive? /

et & &« wisH # e oF ararave @is tfsfiiay =gl &2
1. Antioxidants / Gl 3fieRiTScd

2. Flavoring agents / ¥d1¢ dg dld Toicy

3. Antibiotics / USTaTICeRT

4. Fish meals / Sl HIoH

Correct Answer :-

« Fish meals / A& HIoH
96) CANCELLED
Which of the following is NOT an advantage of loose housing system? /
ST T8 UuTTel &1 fFAferfaa o S o ve ey 781 82
1. Total floor space required is more. /
3ifirep W R B SRR gl

2. Cows are milked in milking barn so clean milk is obtained. /

T} &1 g4, g e a1 IR (fAfeds a1 & Feran srar | o waws gy urd grar g




3. Labour requirement is less. /
91 P SHTTIHAN HH I 5|

4. It is suitable for only warm region. /
g Had T &1 & e Iugad g 3

Correct Answer :-
» Total floor space required is more. /

31 Rl R B e il B

97) CANCELLED

The acidity of cow milk is: / TR & g B 3[TdT Bidll 3:
1.0.19 0 0.21% / 0.19 ¥ 0.21%

2.0.17 10 0.19% /0.17 ¥ 0.19%

3.0.13 10 0.14% / 0.13 T 0.14%

4.0.15t0 0.17%/0.15 ¥ 0.17%

Correct Answer :-

e 0.13100.14%/0.13 ¥ 0.14%

98) Which of the following test is done to know the'fat content of milk27/

Y & T9T 3qYUd Bl A & forg fFrfafaa d & o a1 wiierr fFar smar g2
1. Sediment test / TTBC URI&UT

2. Sensory test / Hda| URI&UT

3. Gerber Test / TT&R UR1&0T

4. Inhibitor test / 3fARIYE TRI&UT

Correct Answer :-

« Gerber Test / &R WRIeor

99) is an oilseed crop. /
o fads (sifaasiis) wad 71
1. Rice / dldd

2. Groundnut / EETCh_c‘ﬁ



3. Wheat / ﬁ_§'

4. Gram / 9T

Correct Answer :-

+ Groundnut / H:‘TCIWF[

100) In a quadrilateral ABCD, sum of the angles A and C is twice the sum of the angles B and D. If angle A is
o o
150 and angle D is 50 , then angle B is ./

% TgYs ABCD H, HIUT A TH HIUT C HT IR, HIUT B T HIVT D & TNT HT gIHT 8| af HIUT A = 1500 T HUT D
=508, A HUIB=__ Bl

o

1. 50

o

2.80

3.120

o

4.70

Correct Answer :-

o

« 70



